
sf&df)*F} pkTosf vfg]kfgL lnld^]*
 sLlt{k"/ zfvf
kfgL ljt/)F x"g] tflnsf
ldlt M 2074.12.1 b]lv nfu" x"g] 
	l;=g+=
	kfgL ljt/)F x"g] :yfgx?
	ljt/)F x"g] ;do
	s}lkmot

	
	
	b]lv
	;Dd
	

	1= 
	 sLlt{k"/ Sjfrf]],b]j(f]sf,;dn Pl/of
	ljxfg 5=00
	ljxfg8=00
	xKtfsf] Ps k^s

	2= 
	sLlt{k"/ lrnGrf] Pl/of
	ljxfg 4=00
	ljxfg8=30
	xKtfsf] b"O{ k^s

	3= 
	^of+unf kmf+^ Pl/of
	ljxfg 6=00
	ljxfg8=30
	xKtfsf] Ps k^s

	4= 
	Effh+ufn Pl/of u|flel^
	ljxfg 5=00
	ljxfg6=00
	xKtfsf] Ps k^s

	5= 
	Effh+ufn Pl/of kDknfO{g
	ljxfg 5=00
	ljxfg5=30
	xKtfsf] Ps k^s

	6= 
	O^fuf]n Pl/of kDknfO{g Pl/of
	ljxfg 6=00
	ljxfg6=30
	xKtfsf] Ps k^s

	7= 
	rf]ef/ *f*f+ Pl/of
	ljxfg 5=00
	ljxfg6=00
	xKtfsf] Ps k^s

	8= 
	rf]ef/ u"& Pl/of
	ljxfg 5=00
	ljxfg6=00
	xKtfsf] Ps k^s

	9= 
	rf]ef/ u]^ Pl/of
	ljxfg 5=00
	ljxfg6=00
	xKtfsf] Ps k^s

	10= 
	rf]ef/ r"gb]jL Pl/of
	ljxfg 6=00
	ljxfg7=00
	xKtfsf] Ps k^s

	11= 
	gof+ jhf/ ^fpKnflgª Pl/of
	ljxfg 5=00
	ljxfg6=00
	xKtfsf] Ps k^s

	12= 
	gof+ jhf/ Pl/of
	ljxfg 4=00
	ljxfg4=30
	xKtfsf] Ps k^s

	13= 
	dfyNnf] kfuf P/Lof
	ljxfg 5=00
	lbp;f] 1=30
	    b}lgs

	14= 
	tNnf] kfuf P/Lof
	lbp;f] 3=00
	lbp;f] 8=00
	xKtfsf] Ps k^s

	15= 
	kfuf ufp jfxL/ (jfªnf Pl/of
	lbp;f] 6=00
	lbp;f] 7=00
	Ps lbg lj/fo/

	16= 
	hfvf ufp Pl/of
	ljxfg 6=00
	lbp;f] 8=00
	    Ps lbg lj/fo/

	17= 
	hfvf *f+*f+ Pl/of
	j]n"sf 5=00
	j]n"sf 6=00
	    xKtfsf] Ps k^s

	18= 
	eTs]kf^L ,%"ufp,(fNkf guf+p
	j]n"sf 4=00
	j]n"sf 6=00
	xKtfsf] Ps k^s

	19= 
	dR%]uf+p Pl/of
	ljxfg 6=00
	lbp;f] 10=00
	Ps lbg lj/fo/

	20= 
	guf+p uf+p leqL Pl/of
	/fqL 7=00
	lbp;f] 4=00
	  gf} lbgdf Ps k^s

	21= 
	sLlt{k"/ jflx/L uf+p Pl/of
	lbp;f] 4=00
	j]n"sf 7=00
	xKtfsf] b"O{ k^s

	22= 
	sLlt{k"/ vf;L jhf/ Pl/of
	lbp;f] 4=00
	j]n"sf 7=00
	xKtfsf] b"O{ k^s

	23= 
	sLlt{k"/ s"^"emf]n,bf]kfrf] Pl/of
	lbp;f] 4=00
	j]n"sf 7=00
	xKtfsf] b"O{ k^s

	24= 
	kml{k{ª If]q
	ljxfg 5=00
j]n"sf4=00
	ljxfg 8=00 j]n"sf 7=00
	    b}lgs
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4

.1

2

.1

 

b]lv nfu" x"g] 

 

l;=g+=

 

kfgL ljt/)F x"g] :yfgx?

 

ljt/)F x"g] ;do

 

s}lkmot

 

b]lv

 

;Dd

 

1

=

 

 

 

s

Llt{k"/ Sjfrf]]

,b]j(f]sf,;dn

 

Pl/of

 

ljxfg 5=00

 

l

jxfg

8

=

0

0

 

xKtfsf] Ps k^s

 

2

=

 

 

sLlt{k"/ lrnGrf] Pl/of

 

ljxfg 4=00

 

l

jxfg

8

=30

 

xKtfsf] b"O{ k^s

 

3

=

 

 

^of+unf kmf+^ Pl/of

 

ljxfg 6=00

 

l

jxfg

8

=30

 

xKtfsf] Ps k^s

 

4

=

 

 

Effh+ufn Pl/of u|flel^

 

ljxfg 5=00

 

ljxfg6=00

 

xKtfsf] Ps k^s

 

5

=

 

 

Effh+ufn Pl/of kDknfO{g

 

ljxfg 5=00

 

ljxfg5=30

 

xKtfsf] Ps k^s

 

6

=

 

 

O^fuf]n 

Pl/of kDknfO{g

 

Pl/of

 

ljxfg 6=00

 

ljxfg6=30

 

xKtfsf] Ps k^s

 

7

=

 

 

rf]ef/ *f*f+

 

Pl/of

 

ljxfg 5=00

 

ljxfg6=00

 

xKtfsf] Ps k^s

 

8

=

 

 

rf]ef/ u"&

 

Pl/of

 

ljxfg 5=00

 

ljxfg6=00

 

xKtfsf] Ps k^s

 

9

=

 

 

rf]ef/ u]^

 

Pl/of

 

ljxfg 5=00

 

ljxfg6=00

 

xKtfsf] Ps k^s

 

10

=

 

 

rf]ef/ r"gb]jL

 

Pl/of

 

ljxfg 

6=00

 

ljxfg7=00

 

xKtfsf] Ps k^s

 

11

=

 

 

gof+ jhf/ ^fpKnflgª

 

Pl/of

 

ljxfg 5=00

 

ljxfg6=00

 

xKtfsf] Ps k^s

 

12

=

 

 

gof+ jhf/ Pl/of

 

ljxfg 4=00

 

ljxfg4=30

 

xKtfsf] Ps k^s

 

13

=

 

 

dfyNnf] kfuf P/Lof

 

ljxfg 5=00

 

lbp;f] 1=30

 

   

 

b}lgs

 

14

=

 

 

tNnf] kfuf P/Lof

 

lbp;f] 3=00

 

lbp;f] 8=00

 

xKtfsf] Ps 

k^s

 

15

=

 

 

kfuf ufp jfxL/ (jfªnf Pl/of

 

lbp;f] 

6

=

0

0

 

lbp;f] 

7

=

0

0

 

Ps lbg lj/fo/

 

16

=

 

 

hfvf ufp Pl/of

 

ljxfg 

6

=00

 

lbp;f] 

8

=00

 

   

 

Ps lbg lj/fo/

 

17

=

 

 

hfvf *f+*f+ Pl/of

 

j]n"sf 5=00

 

j]n"sf 6=00

 

   

 

xKtfsf] Ps k^s

 

18

=

 

 

eTs]kf^L ,%"ufp,(fNkf guf+p

 

j]n"sf 4=00

 

j]n"sf 6=00

 

xKtfsf] 

Ps k^s

 

19

=

 

 

dR%]uf+p Pl/of

 

ljxfg 6=00

 

lbp;f] 10=00

 

Ps lbg lj/fo/

 

20

=

 

 

guf+p uf+p leqL Pl/of

 

/fqL 7=00

 

lbp;f] 4=00

 

  

gf} lbgdf Ps k^s

 

21

=

 

 

sLlt{k"/ jflx/L uf+p Pl/of

 

lbp;f] 4=00

 

j]n"sf 7=00

 

xKtfsf] b"O{ k^s

 

22

=

 

 

sLlt{k"/ vf;L jhf/ Pl/of

 

lbp;f] 4=00

 

j]n"sf 7=00

 

xKtfsf] 

b"O{ k^s

 

23

=

 

 

sLlt{k"/ s"^"emf]n,bf]kfrf] Pl/of

 

lbp;f] 4=00

 

j]n"sf 7=00

 

xKtfsf] b"O{ k^s

 

24

=

 

 

kml{k{ª If]q

 

ljxfg 5=00

 

j]n"sf4=00

 

ljxfg 8=00 

j]n"sf 7=00

 

    

b}lgs

 

